Virginia High School League Scholastic Bowl
page 6
2006-07 District Competition

Match #40


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
THIS IS A COMPUTATION QUESTION. Convert 23 into a binary number.

ANSWER:
10111 (read one-zero-one-one-one)

2.
During the 1970s, rumors floated that his wife, Jovanka (yoh-VAHN-kuh), was going to overthrow him and replace him with her lover, General Djoko (DYOH-koh) Jovanic (yoh-VAH-neech). During World War II, he defeated the fascist Ustashe (oo-STAH-shay) and the royalist Chetniks, but then expelled his Soviet advisors in 1948. Between 1945 and 1980, who was the ruler of Yugoslavia? 

ANSWER: Josef Broz Tito
3.
Its name derives from the Greek for “struck by lightning”.  According to The Odyssey, it was located on the far western part of the earth, by the stream of Oceanus; Pindar considered it to be a single island.  Identify this place in the Underworld where poplars and asphodel grew, the final destination for those mortals favored by the gods.

ANSWER:  Elysium (eh-LEE-zee-um) (or Elysian fields)

4.
Equivalent to watts per ampere, what is the SI unit for electric potential?

ANSWER:
volt
5.
His distant ancestor, Kull of Atlantis, lived some 10,000 years before him. He frequently battled with the Stygian wizard Thoth-Amon. By the age of 40, he had become king of Aquilonia, making him the dominant figure of the Hyborian Age. Robert E. Howard’s best-known character is what mighty warrior from Cimmeria, a land of barbarians? 

ANSWER: Conan the Barbarian

6.
He was the inspiration for the detective in The Name of the Rose and his most important work was Summa (SOO-muh) Logicae (law-GHEE-kigh). What 14th century logician and Franciscan friar is best known for believing, “Don’t multiply entities beyond necessity,” an idea known as his “razor”?

ANSWER: William of Ockham
7.
He was convicted in 1988 for violating the Boland Amendment and for ordering his secretary, Fawn Hall, to destroy several documents. The ACLU helped his conviction get overturned; the appellate court ruled his nationally televised testimony provided limited immunity. On November 7, 1994, Nancy Reagan said that he had lied to her husband about Iran-Contra, effectively dooming what Virginian’s Senate campaign?

ANSWER: Oliver North
8.
Known now as the Intertropical Convergence Zone, the air here is heated by the direct rays of the sun, causing an area of high humidity and generally low air pressure.  What region around the equator got its name from sailors, due to the low morale caused when ships became stranded in the calm winds?

ANSWER: doldrums
9.
A telephone operator uses this five-letter word to describe a phone line shared by two or more people. A lawyer uses it to describe one of the two people involved in a civil lawsuit. A politician would use this word to describe a permanent group. What word also describes an informal social gathering often held on weekends and around holidays?

ANSWER: party

10.
It is the ratio of actual number of particles in solution after dissociation to the number of formula units initially dissolved in solution. What factor is named after the first Nobel Prize winner in Chemistry?

ANSWER:
van’t Hoff factor 

11.
This poem’s author claimed it was the result of an opium dream, hinted at by its subtitle, “A Vision in a Dream.” In it, “a damsel with a dulcimer” is in the “caves of ice,” and one of the characters “on honey-dew hath fed, / And drunk the milk of Paradise.” What poem by Samuel Taylor Coleridge begins with the title character, “In Xanadu,” (zah-NAH-doo) decreeing “a stately pleasure-dome”?

ANSWER: “Kubla Khan”

12.
In 1970, this man captured the Hart, Ross, Conn Smythe (rhymes with “wife”), and Norris Trophies, the only player in history to win these four in one season.  Who was this eight-time Norris Trophy winner who led the Boston Bruins to Stanley Cups in 1970 and 1971, widely regarded as the best defenseman in NHL history?


ANSWER:  Bobby Orr

13.
THIS IS A COMPUTATION QUESTION. What is the secant of 60 degrees?

ANSWER:
2
14.
He had a brother, Rufus, and studied under the Rabbi Gamaliel (gah-MAY-lee-el). He worked as a tentmaker and was supported by a woman named Phoebe, according to Romans 16:1. Who guarded the cloaks of the mob that stoned St. Stephen, converted to Christianity on the road to Damascus and wrote much of the New Testament?

ANSWER: Paul of Tarsus

15.
Also known as pneumogastric (noo-moh-GAS-trik), this body part’s name comes from the Latin for “wandering.”  Name this tenth cranial nerve that runs from the brainstem to the colon.

ANSWER:
vagus nerve

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
In a standard game of pool with fifteen numbered balls, this ball is white with a yellow stripe. What is the last ball sunk in a popular variety of pool with fewer than fifteen balls? 

ANSWER:  9 ball

1B.
What sound in the English language is represented in dictionary pronunciation guides with an upside-down “e”, an example of which is the “a” in “again”?

ANSWER: schwa 

2A.
THIS IS A COMPUTATION QUESTION. In simplest terms, what fraction is .2 (point-two) repeating?

ANSWER:
2/9
2B.
THIS IS A COMPUTATION QUESTION. What is the radius of a sphere with a surface area of 324 pi square feet?

ANSWER:
9 feet
3A.
Between February 16 and March 26, 1945, 100,000 U.S. Marines fought 21,000 Japanese soldiers on what island? 

ANSWER: Iwo Jima
3B.
George Bizet (bee-ZAY) composed what opera about a gypsy woman who falls for Escamillo (es-ka-MEE-yo) the bullfighter?


ANSWER:  Carmen
4A.
What Newbery Medal-winning novel by Scott O’Dell is about a Native American girl, Karana (kah-RAH-nah), who is marooned on an island for several years? 

ANSWER: Island of the Blue Dolphins
4B.
In October 1825, the building of what waterway connected the Great Lakes with the Atlantic Ocean?

ANSWER: Erie Canal
5A.
What vascular tissue conducts water in trees?

ANSWER:
xylem
5B.
What elementary particle makes up beta radiation?

ANSWER:
electrons

6A.
Name either of the two Special Administrative Regions – former European possessions now in Chinese hands – of the People’s Republic of China. 

ANSWER: Hong Kong or Macau (mah-KOW)

6B.
Who developed a system of interchangeable parts to make mass production possible and invented a cotton gin that worked to remove upland cotton seeds? 

ANSWER: Eli Whitney

7A.
Johnny Goodboy Tyler overthrows the Psychlo dictatorship in what L. Ron Hubbard novel, later turned into a colossal cinematic catastrophe starring John Travolta? 

ANSWER: Battlefield: Earth
7B.
A Colombian telenovela is the basis for what Thursday night TV show on ABC starring America Ferrera and Vanessa Williams?

ANSWER:  “Ugly Betty”

8A.
The hexadecimal system is based on what number?

ANSWER:
16
8B.
The first Roman lady with the title of Augusta, who was the third and most prominent wife of the Roman Emperor Augustus, perhaps known to you as the female leader of the Romans in the Civilization game series? 

ANSWER: Livia Drusilla (accept either)

9A.
In 1903, Cassius Coolidge completed what series of 16 paintings, showing the title animals smoking cigars and enjoying the title card game?

ANSWER:  Dogs Playing Poker
9B.
What is the term for a triangle with an angle of over 90 degrees?

ANSWER:
obtuse
10A.
There should be 100 or fewer milligrams per blood deciliter of what three-letter abbreviation, known as “bad cholesterol”? 

ANSWER:
LDL (or low-density lipoproteins)

10B.
Who is the young man that leaves home to become a musketeer in The Three Musketeers? 

ANSWER: D’Artagne (dar-tan-YAWN)

Third period, 15 toss-ups, 10 points each

1.
It states that the most stable arrangement of electrons in subshells is the one with the greatest number of parallel spins. What German’s rule of maximum multiplicity essentially states that all orbitals in a subshell must have one electron before a second electron can be placed? 

ANSWER:
Hund’s rule

2.
THIS IS A COMPUTATION QUESTION.  What is the product of the binomials x plus 5 and x minus 12?

ANSWER:
x squared minus 7x minus 60
3.
Suburbs of this city include Shaker Heights, Garfield Heights and Euclid. It has recently invested in building landmarks such as Playhouse Square Center, Jacobs Field and the Rock and Roll Hall of Fame. What Ohio city lies at the junction of the Cuyahoga (KIGH-uh-hoh-guh) River and Lake Erie, and is home to the Indians, Cavaliers and Browns pro sports franchises? 

ANSWER: Cleveland, Ohio

4.
He won the Wimbledon juniors title in 1998, the final year before he turned pro.  His first Grand Slam was a victory over Mark Philippoussis (fih-loh-PEW-sis) at Wimbledon in 2003, and he won his first Australian Open and US Open in 2004.  Though he has yet to win a French Open title, who is this Swiss tennis player, who has been the world Number 1 player since February 2004?

ANSWER: Roger Federer
5.
This fantasy novel was originally published in 1979 in German, appearing in English in 1983. It used red text for real-world scenes and green text for scenes set in the fictional world. Characters include a luckdragon named Falkor and a Childlike Empress. In it, the land of Fantastica is built by human dreams. Bastian Balthazar Bux is the main character in what novel, which, despite its name, is several hundred pages long? 

ANSWER: The Neverending Story or Die Unendliche Geschichte (dee oon-end-LEE-kay gay-SHEEK-tay) 

6.
The Greeks used their new maritime technologies such as the trireme (TREE-rem), and their trade routes may have extended as far as Great Britain. Their alphabet, created around 1200 BC, was the foundation of the Greek alphabet. Byblos, Tyre (TEER), Sidon (SIGH-dawn) and Carthage were among the cities founded by what culture that lived in modern-day Lebanon? 

ANSWER: Phoenicians

7.
Sonja Christopher was the first person ever eliminated from this game show.  There has never been a repeat winner, and the original winner, Richard Hatch, is currently serving 51 months in prision for tax evasion related to the $1 million prize he won.  The fourteenth season of filming is scheduled to begin in Fiji for what CBS show, the originator of the "reality show" craze?

ANSWER: Survivor
8.
It has 4 wires – a twisted pair, a ground, and a voltage up to 5.25 volts, allowing it to power devices. Version 1 was low speed, version 1.1 was full speed, and the high speed of 480 megabits per second is version 2, the current standard. Name this cable that led to the plug and play era of home computing, and replaced the serial and parallel ports. 

ANSWER: Universal Serial Bus (accept USB)

9.
His headquarters were on 13 Rover Street, and his fee was “25 cents a day, plus expenses.” He, along with his father, the police chief, kept Idaville, Florida, crime free for many years. He needed his friend, Sally Kimball, to help protect him from the Tigers, who were led by “Bugs” Meany. Donald Sobol created what fictional “boy detective” whose mysteries had solutions located in the back of the book? 

ANSWER: Encyclopedia Brown (accept “Leroy Brown”)

10.
Clause 25 set out the standard weights and measures and clauses 41 and 42 guaranteed the safety of foreign merchants. Edward Longshanks issued this document’s final version in 1297, and its right to due process remains a foundation of English law. The First Barons’ War started when King John tried to repeal what document that he signed at Runnymede in 1215?

ANSWER: Magna Carta Libertatum

11.
Princess Kilo's baby boy, born in August, will be the third in line as Emperor of what nation, whose Chrysanthemum Throne is currently held by Emperor Akihito?

ANSWER: Japan
12.
His study of medicine fueled his first novel Liza of Lambeth; its success enabled him to devote his remaining 65 years to writing. His spy novel, Ashenden, was an inspiration for Ian Fleming’s James Bond series. He used the life of Paul Gauguin (goh-GAN) as the basis for his The Moon and Sixpence. The clubfooted Philip Carey appears in what writer’s most famous novel, Of Human Bondage?

ANSWER: W. Somerset Maugham (MAWM)

13.
Southerners who were once members of this party formed the “Conservative Party” that was briefly active during Reconstruction and the Constitutional Union Party that ran John Bell in the 1860 elections. What political party was able to elect William Henry Harrison and Zachary Taylor to the Presidency before breaking up over the question of extending slavery into the territories? 

ANSWER: Whig Party

14.
The primary developer of this theory became interested after finding identical fossils located on land masses now separated by oceans.  Alfred Wegener's theory eventually developed into what concept that says that all the land masses were originally connected as part of Pangea, a theory that originally led to the concept of plate tectonics?

ANSWER: continental drift
15.
This four-letter word has two meanings: one comes to us from a French word meaning “frame,” and describes the frame in which a door or window is set. Its other meaning comes from the Arabic for “muslin.” What word describes the ribbon worn over the shoulder by, among others, high-ranking officials and beauty pageant contestants? 

ANSWER: sash
Spare questions 
Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Alan Mulally became the Chief Executive of this company in 2006.  Not one week later, the company announced an agreement with the United Auto Workers, resulting in an attempt to reduce 75,000 jobs.  What is this family-owned automobile manufacturer, located in Dearborn, Michigan, who manufactures the Fusion and the Mustang?

ANSWER: Ford Motor Company

2.
A close-to-home example of this is Virginia’s 3rd Congressional District, which includes parts of Norfolk, Hampton, Newport News and Portsmouth unconnected to the rest of the district. The name of a Massachusetts Founding Father and the name of a fire lizard were combined to form what word, synonymous with bizarrely-shaped districts?

ANSWER: gerrymandering (It’s pronounced Gary-mandering, but accept Jerry-mandering.)

3.
This language is noted for having a resting and moving shva (SHVAH); in fact, it is the origin of the word “schwa.” The prefix “ha-” is attached before a word to mean “the.” The letter vov (VAWV) is put before a word to mean “and.” Ladino and Yiddish are among the languages influenced by what language, with Ashkenazi and Sephardic dialects, that is spoken in modern Israel?

ANSWER: Hebrew
4.
There are 56 of them in the human body. Name these bones, located further out along the body than the metacarpals and metatarsals, which make up the fingers and toes.

ANSWER:
phalanges
5.
THIS IS A COMPUTATION QUESTION. What is the area of a square with a perimeter of 100 yards?

ANSWER:
625 square yards
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

